Events / (0.028 GeV )

Events/(0.1)

20.5fb™' (8 TeV)

60
50
40

MO

=
n

AU)

CMS

g2 < 4.3 GeV?

¢ Data

NN Correctly tagged signal
2474, Mistagged signal
- - - Background

54 . .55
mK Ty p’) (GeV)

20.5fb' (8 TeV)

60F
50
40
30
20

10

'IIIlVlIIIIIII T

1

%208

70E- 2 < q2< 4.3 GeV?

00 04 02

02 04 06 08 1

¢ Data
Total fit
NN Correctly tagged signal
24,4, Mistagged signal

- - - Background

cos(Bk)

Events / (0.05)

Events / (0.15708 )

60
50
40
30

\\\ \ T

0’400»«00 DT

CMS 20.5 fb™' (8 TeV)
2<g2<4.3GeV? ¢ Data
NN Correctly tagged signal
/474, Mistagged signal
- - - Background

4 o

02 03 0.4 05 06 07 0.8 09 1
cos(6;)
CMS 20.5 fb™' (8 TeV)
60
[ 2<02<4.3GeV2 ¢ Data
C Total fit
SO0 N Correctly tagged signal
E 2474, Mistagged signal
40— - - - Background
30F
- [

20

10

' ¢ (radians)



